P ﬂ Dimensions & Mounting Guide

4RU Form Factor — 3Play 4800 ..........c.ouiuiiuiieimmmimiirisersrrinssssssssssssssssssssssss s s s s sssssssssssssssssssssnssees 2
3RU Form Factor — VMC1, TriCaster TC1R, and 3Play 3P1R ..., 3
3RU Form Factor — TriCaster 2 Elite.........cciiiiiiiiiiiiieii s s s s e s e a e 4
2RU Form Factor — TriCaster 1 Pro, TC1, & 410; 3Play 3P1 & 3P2 & 425; and VMC1 OUT ........ 5
1RU Form Factor —=TalkShow and NVGL ........ouuuiiuiiiiiiiiiiee e eeeeeeeiis iin i areeeaaaeeeeeeeeeeeeeeaeeessennsnnnnns 6
IRU FOIm FACTOr — NC2 1O .ttt ettt e et et e e e e e e e e e s s s s s bbb e e e e aeeaaaaeas 7
Mini FOrm Factor — TrHCASTEr MINI .ocoiiiiiiiiiieieitiie s e ee et s s s s s e e e e e e e e e eeaeeeeeeeennnennnes 8
NeWTeK 4-Stripe CONIIOl PANEI ......uuieiiii i e e e e e e e e 9
NewTek 2-Stripe CONTrOl PANEI ........ooii e e e 11
TriCaster TCLSP CONLIrOl PANEl........ooo oo e e e e e e e e e 13
3Play 3P1 & 2 Control Panel and 3Play 4800 .....cuieiiiiiiiiiiiiiiiii e 14
3Play 425 CS & TriCaster 850 TW ..ot ciie s e s e e e e e ettt e e s e e e e e e e e eeaeaaenereeeesrennans 15
TriCaster Mini CS & TriCaster 40 CS .....ooeuiiiiiiiiaieie ettt s e e e e e e e e e e e e e e eeeeeeeeaeeeenneees 16
Rack Slide Rail Kit = 3RU & 2RU ...t e e e e e e e e e e s aeeeeees 17

RACK SHAE RAI Kt = LRU .o s 18
Rack Rails — 4RU & 2RU

September 2022 Page 1



Q NewTek-

4RU Form Factor — 3Play 4800

3Play 4800 are encased in 4RU (Rack Unit) chassis equipped with ‘ears’ designed to permit mounting in
standard 19” rack architecture.

As this unit weighs approximately 44 pounds (~20 kilograms), NewTek strongly recommends attachment of
rack rails or installation of a shelf or rear support to distribute the weight more evenly when rack mounting.
Maintaining front and rear access is convenient for cabling, air movement, and removable storage, and
should be considered mandatory for proper ventilation and cooling.

Legacy NewTek 4RU products include TriCaster 860, 855, 850 EXTREME, 850 and 8000; and 3Play 820.

o

1861" (42.7 cm)

T 700" (178 cm)

-~

.r’d
-

21.5" (54.6 cm)

September 2022 Page 2



Q NewTek-

3RU Form Factor — VMC1, TriCaster TC1R, and 3Play 3P1R

VMC1, TriCaster TC1R, and 3Play 3P1R are encased in 3RU (Rack Unit) chassis equipped with ‘ears’
designed to permit mounting in standard 19” rack architecture.

As these units weigh approximately 34 pounds (~15 kilograms), NewTek strongly recommends attachment of

rack rails or installation of a shelf or rear support to distribute the weight more evenly when rack mounting.

Maintaining front and rear access is convenient for cabling and air movement. In view of the vent placement
on the top panel, it is mandatory that a minimum of 1RU of vacant rack space be allowed above the chassis

for proper ventilation and cooling.

57" (1.45 cm)
— ||
.'I_J.nHA,._.H*'i“i“!HH = .
18.90" (48 cm)
. . - 13.80" (35.05 cm)
6.25"
(15.88 cm)
L . . P
e ° . . - I
E 4 165" (42cm)
I
1
| 1.75" (4.45 cm)

|
1.75" (4.45 cm)
i

- 16.75" (42.55 cm) -
19.00" (48.26 cm) -

September 2022 Page 3



Q NewTek-

3RU Form Factor — TriCaster® 2 Elite

TriCaster® 2 Elite is encased in 3RU (Rack Unit) chassis equipped with ‘ears’
designed to permit mounting in standard 19” rack architecture.

As these units weigh approximately 34 pounds (~15 kilograms), NewTek strongly recommends attachment of
rack rails or installation of a shelf or rear support to distribute the weight more evenly when rack mounting.

Maintaining front and rear access is convenient for cabling and air movement. In view of the vent placement

on the top panel, it is mandatory that a minimum of 1RU of vacant rack space be allowed above the chassis
for proper ventilation and cooling.

57" (1.45 cm)

18.90" (48 cm)

. . - 13.80" (35.05 cm)
6.25" -

(15.88 cm)

ee]

5.26°

(13.34 cm)

L

— h—y

= 4 165" (@4.2cm) ‘ Coiee]

1.75" (4.45 cm)

' 1.75" (4.45 cm)

'

- 16.75" (42.55 cm)
™ 19.00" (48.26 cm)

September 2022 Page 4



Q NewTek-

2RU Form Factor — TriCaster 1 Pro, TC1 & 410; 3Play 3P1& 3P2,425;
and VMC1 OUT

TriCaster TC1, and 410; 3Play 3P1, and 425; and VMC1 OUT systems are encased in 2RU (Rack
Unit) chassis equipped with ‘ears’ designed to permit mounting in standard 19” rack architecture.

As these units weigh approximately 26 pounds (~12 kilograms), NewTek strongly recommends attachment of
rack rails or installation of a shelf or rear support to distribute the weight more evenly when rack mounting.

Maintaining front and rear access is convenient for cabling, air movement, and removable storage (if
applicable). In view of the vent placement on the top panel, it is mandatory that a minimum of 1RU of vacant
rack space be allowed above the chassis for proper ventilation and cooling.

Legacy NewTek 2RU products include the first-generation VMC1, TriCaster 460, 455, 450 EXTREME, 450 and
3Play 440.

57" (1.45 cm)

mmmo FEEEE
R .

18.90" (48 cm)
L ] L ]
= 13.80" (35.05 cm) -l
- 6.25" -
(15.88 cm)
- L J
{F{ ’
- . ° . o |
4 1.65" (4.2 cm)
~ | ) |
:D ) {
” ] 1.75" (4.45 cm)
= &)

#

3

cm) -

September 2022 Page 5



Q NewTek-

1RU Form Factor —=TalkShow, NC1, and NVG1

TalkShow, NC1, and NVG1 systems are encased in a 1RU (Rack Unit) chassis equipped with ‘ears’
designed to permit mounting in standard 19” rack architecture.

As these units weigh approximately 15 pounds (~7 kilograms), NewTek strongly recommends attachment of
rack rails or installation of a shelf or rear support to distribute the weight more evenly when rack mounting.

Maintaining front and rear access is convenient for cabling and air movement. In view of the vent placement
on the top panel, it is mandatory that a minimum of 1RU of vacant rack space be allowed above the chassis
for proper ventilation and cooling.

57" (1.45 cm)
|:'
I
. L ]
14.90" (37.85 cm)
) i | 11.25" (28.58 cm)
l— 638" —~
(16.20 cm) !
wrY - : B 175 was em)
|
-l ? . * L] | — i‘
4 ! 165" (4.2 cm)
)

- 19.00" (48.26 cm) -
- 16.75" (42.55 cm) -

& =

- e vevevevevevevevvveveus @ Trre @ vtve @ ve

September 2022 Page 6



Q NewTek-

1RU Form Factor — NC2 Studio I/O Module
The NC2 Studio I1/0 Module is encased in a 1RU (Rack Unit) chassis and is supplied with a racking kit.

As this unit weighs approximately 27 pounds (~12 kilograms), NewTek strongly recommends attachment of
rack rails or installation of a shelf or rear support to distribute the weight more evenly when rack mounting.

Maintaining front and rear access is convenient for cabling and air movement. In view of the vent placement

on the top panel, it is mandatory that a minimum of 1RU of vacant rack space be allowed above the chassis
for proper ventilation and cooling.

| 18.97in |

| 182 cm I
| 17.22in I

§Newreic 4o

| 18.97in |
l 48.2 em I

23.191n
58.9 N
With Bezel

22.73in
57.75¢m

R
g3

| 27300
[ 5775cm

33.180n
58.91cm
With Bezel

September 2022 Page 7



Q NewTek-

Mini Form Factor — TriCaster Mini & 3Play Mini

TriCaster Mini system is encased in NewTek’s proprietary, ultra-portable Mini chassis.

This unit weighs approximately 9 pounds (~4 kg). As it is typically subject to frequent handling and
transport, proper precautions should be taken to protect against accidental damage, including dropping,
falling, or exposing to static discharge.

An adjustable handle and cable retention bracket is included with each unit. When attached and fastened
securely, this provides extra security and strain relief for cabling, in addition to convenience for handling and
transport. NewTek strongly recommends that you still ensure that cabling is properly routed to avoid creating
a trip hazard — especially in tabletop and desktop installations.

Maintaining front and rear access is convenient for cabling. Free airflow to the vented side panels should be
considered mandatory for proper ventilation and cooling.

7.89" (20.04 cm)

= ~

\

Ry

N

4.23" (10.75 cm)

18" (.46 cm) BOTH SIDES

September 2022 Page 8



Q NewTek-

NewTek 4-Stripe Control Panel

The VMC1 4S Control Panel is suitable for tabletop operation and also includes a 1/2” (~1.27 cm)
rabbet on all four sides of the panel surface for fixed installation into a supporting structure.

When embedding the base in the cutout for fixed installation, ensure that the supporting structure
does not block access to the AC power connection and network port at the rear left.

* =

y = o i !

6.13" (1557 em) ¢ Mﬂ;b%@af;—_/
- ] 3.88" (9.86 cm)
H \“;E:__‘.-‘___
)
- 18.31" -
(46.51 cm)

A

5.32" (13.5 cm)

| -

o G
2.59”
(6.57cm)
4.3"
(10.92cm)

September 2022 Page 9



Q NewTek-

NewTek 4-Stripe Control Panel cont....

X1 (xx
OO OO OOITITn O Oo
sssssssslecsssnnne oo oo

21.26" (54cm)

OO0 oo 1 %
OO OO OO OO 0o J?L m (8 8]
OO OOy rn O, m O Orm (8 8]
4.3” (9.26cm)
10.9” (27.6cm)
12.9” (32.76¢m)
42.2” (107.18cm) I
39.9”
(101.3cm)
L ] - . - [ ]
o] a ] L]
L] L]
9"
(22.86cm)
* o . o ° o i*
18.97”
(48.18cm)
° . ® ° L
o o
-3 3
19.95” 8 #10-24
(50.67cm)

September 2022 Page 10



Q NewTek-

NewTek 2-Stripe Control Panel

The VMC1 2S Control Panel is suitable for tabletop operation and also includes a 1/2” (~1.27 cm)
rabbet on all four sides of the panel surface for fixed installation into a supporting structure.

When embedding the base in the cutout for fixed installation, ensure that the supporting structure
does not block access to the AC power connection and network port at the rear left.

11.96" -
= (30.38 cm)
el
H EEL,,,,.M !
A ———
e ] (6.96 CI_TI)
!
0080000000000 000J00000J0000N o
00000 000 o |
OO0 OO oo Qo ﬂgm o
DOO0ON00  0OODDON0 00000 00 (8 ®) %
OO0 OO0 0OoO0 oo OO om
OO0 OO0 [ g
OO00ONN0 0000000 00000 Qo Jg[ a0 oo
OOO0OO00 DOoO0O0 oo oo 00 0o oo
4.30"
={10.92 cm)~
10.90"
(27 .69 cm)
[~ 12.90" -
(32.77 cm)

= 35.70" (90.68 cm) =

5.00"(12.7 cm)

September 2022 Page 11



Q NewTek-

NewTek 2-Stripe Control Panel cont...

33.41”
(84.86cm) o
83" . 17
(21.2cm) (42.41cm)
- - - - -
r - 2 i
T -~
. @ . . . . @ * 8 X #10-32
, =
9.67 . 0w &
(24.56cm) ||
4.5 - .
- -
(11.43cm) @
o o
2.58”
(6.55cm) |, © © .
f -] - )

2.59”
(6.57cm)

4.30”
(10.92cm)

September 2022 Page 12



Q NewTek-

TriCaster TC1SP Control Panel

The TriCaster TC1SP Control Panel is suitable for tabletop operation and also includes a 1/2” (~1.27
cm) rabbet on all four sides of the panel surface for fixed installation into a supporting structure.

When embedding the base in the cutout for fixed installation, ensure that the supporting structure
does not block access to the USB port at the rear left.

12.01"
5 (30.51 cm) = on Oooom
T LS. 60 °Bm
wwi-_—_—f 00000000000 oD o
el e R 00000000000 oo
D Nt 2.86" (7.26 cm)
e —— [ Seoesssssejsses) B B
: ] [80000000000000) oo fin
(0000000000000 0]ccccclo IR
- 25¢ L
(6.45¢cm)
e ses -| 3sr I
—- 23.31" (59.21 ¢n (9.83 ¢cm)
[ |
{ = ‘ 528" (13.41cm)
= . l
20.98”
(53.28cm)
5" __|. 1098
(12.7cm) (27.88c
968" o ‘?/
(24.58cm) -
45" i o
(11.43cm) =
259" | 1 ©
657emfs | © &) ° 1
: ) e  A— :

September 2022 Page 13



Q NewTek-

3Play 3P1 & 3P2 Control Panel and 3Play 4800.

The control panel hardware for 3Play 3P1, and 4800 is suitable for tabletop operation and
also includes a 1/2” (~1.27 cm) rabbet at the front and rear of the panel for fixed installation into a

supporting structure.

When embedding the base in the cutout for fixed installation, ensure that the supporting structure
does not block access to the USB port at the rear left.

| 11.64" (29.57 cm)
I GﬁD OO0
D @ a
5.06" (12.85 O
128em\ | Mo

| - U1

I

[ 3.93" —*

(9.98 cm) 4.01" (10.19 cm)

CI !

S e |

[ 12.70" (32.26 cm) - -1

September 2022 Page 14



Q NewTek-

3Play 425 CS & TriCaster 850 TW

The 3Play 425 CS and TriCaster 850 TW are suitable for tabletop operation and also include a
rabbet on all four sides of the panel surface for fixed installation into a supporting structure. The
rabbet is approximately 5/16” (~.8 cm) at the front and rear, and approximately 1/2” (~1.27 cm) at
the sides.

When embedding the base in the cutout for fixed installation, ensure that the supporting structure
does not block access to the USB port at the rear left.

2.016"

(5.12cm)

11.537"

(29.31 cm)

10.00" (25.4 cm) (1.07 cm)

9.00" (22.86 cm)

1.285" (3.26 cm)

693" ( 1176 cm) °L]°
)

A
'

500" (1.27 cm)

September 2022 Page 15



Q NewTek-

TriCaster Mini CS & TriCaster 40 CS

The TriCaster Mini CS and TriCaster 40 CS are suitable for tabletop operation. Intended for portable
use, the panel does not include a rabbet for fixed installation, however countersinking into a
supporting structure is still possible.

When embedding the base in the cutout for countersinking, ensure that the supporting structure
does not block access to the USB port at the rear left.

T
COOOOdoCan e0ee
0000000000000 N
0080000000000 0]10 0N nin

o]

SECTION A-A

Q\__r_{__"._::—:l——\

September 2022 Page 16



Q NewTek-

Rack Slide Rail Kit = 3RU & 2RU

NewTek offers custom rack slide rail kits from FEC Mount World designed to permit secure mounting of
applicable systems in standard 19” rack architecture.

The rack slide rail kit for 3RU and 2RU chassis is compatible with systems to include the NewTek IP Series
Video Mix Engine (VMC1R) and Studio Expansion Module (VMC1 OUT), TriCastere TC1 and TC1R, and
3Playe 3P1 and 3P1R.

All hardware required for installation is included. Components are suitable for standard EIA rack architecture,
3RU or 2RU cabinet height, and rail depth from 20.5 to 26 inches (52.07 to 66.04 cm).

3U FRONT
}—ADAPTEF?

PART IDENTIFICATION
REAR BRACKET—_

2U FRONT
ADAPTER

| ZOUTER& MIDDLE &=f__—
SLIDE PCS. . PIECE

[

“SIDE ADAPTER—

HARDWARE

(4) 8-32 x 3/8” SCREW
(4) 8-32 KEPS NUT
(12) 10-32 x 5/8” TRUSS HD SCREW (BO)
(8) 10-32 KEPS NUT
(8) 8-32 HEX NUT
(6) 4AMM X 8MM FLAT HEAD SCREW

September 2022 Page 17



Rack Slide Rail Kit — 1RU

NewTek offers custom rack slide rail kits from FEC Mount World designed to permit secure mounting of
applicable systems in standard 19” rack architecture.

The rack slide rail kit for 1RU chassis is compatible with systems to include the NewTek Studio I/O Module
(NC1 1/O), Studio I/O IP Module (NC1 I/O IP) and Studio Input Module (NC1 IN), TalkShowe VS 4000 and VS
100, MediaDS™, and NVG1 NewTek-Vizrt IP Graphics Server.

All hardware required for installation is included. Components are suitable for standard EIA rack architecture,
1RU cabinet height, and rail depth from 18.25 to 25 inches (43.36 to 63.50 cm).

1 U FRONT ADAPTER
FOR SOME
MODELS

PART IDENTIFICATION
REAR BRACKET

| //
’ = A\
OUTER & MIDDLE o 4
SLICE PCS. : INNER SLIDE SIDE ADAPTER
| PIECE

HARDWARE

(4) 8-32 x 3/8” FLAT HEAD (UC) SCREW
(4) 8-32 KEPS NUT

(4) 10-32 x 5/8” TRUSS HD SCREW (BO)

(4) 10-32 x 1/2” PAN HD SCREW
(2) 6-32 x 1/2” SCREW (BO)
(4) 6-32 KEPS NUT
(8) 8-32 HEX NUT
(6) 4AMM X 8MM FLAT HEAD SCREW

September 2022 Page 18



Rack Rails —4RU & 2RU

NewTek also offers rack rails for 4RU and 2RU systems that are designed to permit secure mounting of
applicable systems in standard 19” rack architecture. This kit is compatible with systems to include NewTek
TriCastere 8000, 460, and 410; 3Playe 4800, 440, and 425; and legacy 4RU and 2RU products.

All hardware required for installation is included. Components are suitable for standard EIA rack architecture,
4RU or 2RU cabinet height, and rail depth from 20 to 24 inches (50.80 to 60.96 cm).

September 2022 Page 19



